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- the time interval between increments. (in seconds)

- the amount to be added to the target heater
after each fime inferval

- the value that the target heater is required to reach.

- the amount to be added to the tube heater
after each fime inferval

- the value that the tube heater is required to reach.

- the target and tube heaters are only incremented ifthe
vacuum is akay, i2, less than this value

- ifthe vacuum exceeds this value, the last increment
of the target and tube heaters s backed off.
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